Decivete puccemive

Sia ‘? : ASRA)R Jeﬂvc\o&" AN GB\ o‘(w\g>

£ duwpe - &Q\%‘*’“"“’N R
PRITA da Q cap\_j(-_—ﬂg ~ ASR ’”%R

S Do Suvmore dume proe L o4F @ o oue
&,exn‘\c\gﬁé <(v\ A\g A) ) INe & N xse_/l\\

Q/)\'/)\{ %.W\ALJ v ( ,Q»\M,\e d-QQ e PPO\L) (Ve ewentod

A —C i Yo ) J&;V—:o -ffﬂd-\;\’:f (?\.\(:R







Vi 50 -1

X —) Xo X— KXo

!

oo direre de § € due ubke demvelf i A

2 (nde Chend o ivn X\(x\-S\(?&\ = Z -WX W\ L(&

KXo x’ X A= -
;G (xbj:;i(x-)= %@é \IE
_ 4o i}

\\,\—lc& coNo _f“: F\\Qﬁ\ ~%R ) C}X&
e /= po—m\oﬂe c,q&chch/ d (dzf-)s ‘Y' <S (%:S\ (K)



















C\(\.’PQ‘( \O Ob

~

(o

QCQV\QO\, et

Q\U\‘NQ/«YL‘) O(-QQQQ
d,o%w\,fuav@ Ck)d-é/\“""\Q












\ {Puw\\q TN %\\ = qvmeQ e v o Qons

twlrmf\? /g C,vi\\om oW 5(L=W=\DV\= >\ «%»L
W Q ?S\o%*co Al ,(_ C/O\M\@w\ QA COV\\E/Y\A)Y_Q/
(,ov\c,@vﬂ:o\ e 19=2S T <V\o\r\ QCon/ W= =

yerbe guluv\kﬂ»\-


















X ——

X >0

72 —X) o






















































\y
(X))o
j X< 24,
b X248,



